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P 024 2.4
PN 370 3.7
PN 0.09 _ 0.04
;PN 0.021 _ 0.2
P 0.084 _ 0.84
:PM) 0.60 _ 0.060
PN 0.2 0.119
PN 091 9.3
:PM 154 1.5
Py 077 77
P 872 82
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023 27
039 04
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0.80 ___ 0.080
099 0.1
001 13
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007 ___ 07
072 7.2
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P 125 15
M 378 38
PN 049 044
;P 0.041 _ 0.42
;M 0.184 _ 0.84
M 0.65 _ 0.560
P 0.29 _ 0.129
;PN 031 0.3
:PM” 158 8.5
:PM 007 0.7
P 472 42
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;P 0.53 5.3
PN 029 9.7
PN 079 0.7
M 0041 0.4
P 05 0.439
;M 0.6 0.060
P 020 0.2
;M 0.041 14
P 154 15
P 027 2.7
(P 5.72 5.2
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pwn 133 13
:PM”N 340 34
:PW0.440 _ 0.44
:PM”N 0.061 _ 0.62
:PM”N 0.164 _ 0.64
:PM”N 0.55 _ 0.550
:PM”N 049 _ 0.149
Pwmn 022 0.2
: P 8 80
Py 047 4.7
P 4.02 4.2
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‘WYJ” = > JJ/VO
P 453 4.3
PN 019 1.7
PN 679 6.7
M 0.441 _ 0.44
P 0.5 0.459
:PM) 016 _ 0.160
P 020 0.2
PN 0141 1.4
P 111 11
P 127 1.7
P 5.22 52.2
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PY» 733 7.3
P 341 31
P 0.420 _ 0.24
MM 0.051 _ 0.52
W™ 0.104 0.6
M 0.56 _ 0.560
M 040 0.109
PN 022 02
PN 0.4 _ 40
P 067 6.7
:PMN 452 5.2
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;P 0.53 0.3
PN 009 0.7
PN 609 0.7
;M) 0401 _ 0.04
;M 0.5 0.059
PN 016 0.16
PN 021 0.2
PN 014 14
P 112 12
PW” 147 14
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